TERERAIA O#EtER (H21.10)

Hh[X % THX# 5 S i HHEEH
FREHKX BT 50 51 101 46
FHREMX L {hET 21 20 41 17
FREMX {hET 18 19 37 17
FHE#KX ABET—TH 15 17 32 15
FREMX ABTZTH 21 21 42 14
FHE#KX ABT=-mTH 20 27 47 26
FREHX EEL) 31 34 65 30
FHE#KX SHT 4 46 87 42
FREMX JoHT 49 73 122 49
FREMX STHT 39 40 79 38
FREHX EHHE 22 19 4 17
FHE#KX SEEMET 28 27 55 26
FHREHMKX T FHET 39 51 90 40
FHEHX + FHHET 43 51 94 48
FHREHX AEHT 67 62 129 68
FHEHX LEE 29 43 72 34
FREHMX HAEET 22 27 49 27
FRHE#MX fin = BT 74 93 167 71
FAREHKX N 416 444 860 379
FHEMX THRE 134 147 281 122
FAREHMKX [Ed 87 126 213 91
FHE#KX i EH 794 883 1,677 652
FHREMX L 106 121 227 80
FHREMKX B 59 58 117 44
FHE#X RBBTRER 316 336 652 234
FHEH#EX F+ R HET 374 497 871 324
FHREMKX i& it ET 64 71 135 56
FHREMX /0 495 518 1,013 316

FHREHMXET 3,474 3,922 7,396 2,923

HEHX ARZEBTKZAER 292 309 601 224
HEHX AHER 103 106 209 71
HEHX hid 133 133 266 91
W EHX BB 98 133 231 81
HEHX by 84 112 196 85
B X tl=] 15 16 31 10
HWEHXET 725 809 1,534 562

RIEEHh X K HT 470 586 1,056 429
RIEih X 0 3+ BT 190 223 413 164
RIEEHh X =E5 360 358 718 278
KiF#h X sk 65 89 154 49
KT #h X EEE 69 79 148 50
AT #h X &= 151 167 318 101
KT #h X TaE 169 155 324 93
RIEh X K T 134 139 273 108
RIEHh X 7LF 177 178 355 147
KT #h X HEBF 307 376 683 307
KiFh X AR 393 446 839 392
KiFHh X R4EE 3 43 46 46
RIFHh X AHEYNE 97 114 211 63
KiFHh X HIUVHLE 495 544 1,039 364
Kb X 2Dl E 513 539 1,052 308
RiF#h X TS50 0VFY 3 15 18 18
KiTHh X &+ 3,596 4,051 7,647 2,917
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TR A A O#Et 3 (H21.10)

Hh[X % THX# 5 S H HHEEH
SIAEHX FRET1X 93 135 228 117
SL{ERX FRET2X 390 446 836 376
SLEH X FRETSX 238 222 460 202
STEHIX ISfEE—TH 231 332 563 253
SLIEHN X MIEEZTH 248 277 525 211
IEHX M{EE=TH 526 539 1,065 393
SITEHIX ITEEMTH 128 185 313 138
VR[] S =EHT 361 384 745 302
SL{EHX b} 268 294 562 234
SITEHX myrE 675 731 1,406 526
M E#X FTRETR H 48 149 142 291 146

SL{ERIX B 3,307 3,687 6,994 2,898

KIJIINHET =28 79 90 169 51
K RHET INGR 65 80 145 54
KIINHET st 229 245 474 180
K RHET et 46 48 94 43
KIINHET KINALL 105 113 218 72
KJIINHET EE AN 78 88 166 60
KIINHET = H 110 125 235 82
KINAHET =& 133 141 274 91
KIINHE] EE 240 248 488 188
KINAHET RIEIE 27 59 86 86
KINAETE 1,112 1,237 2,349 907

2187 f=H 51 50 101 32
2118 i 31 35 66 18
28T Fia 30 29 59 15
2JIET REN 113 139 252 87
21T B 53 67 120 44
21T BE 174 180 354 131
2118 INE 117 116 233 85
2118 Niiba) 137 143 280 103
2118 218 47 49 96 42
2)I||7 BIR 73 88 161 50
2118 &K 27 32 59 25
2)I||7 S 23 20 43 10
2)I|fT VA= 40 33 73 18
28y £H 43 53 96 25
2 JIET TtE 40 36 76 22
28y YR A 117 134 251 66
2 JI8T RE 55 65 120 28
2187 BEFH 80 109 189 54
£)I187 Cxlsik 341 196 537 279
2187 HEER 3 19 22 22
2)IBTE 1,595 1,593 3,188 1,156
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TR A A O#Et 3 (H21.10)

Hh[X % THX# 5 S i HHEEH

R % 2ET Kiz 114 120 234 64
K % 2 HT Bith 10 11 21 11
K% [GEis 109 114 223 66
K % 2 ET HEFE 61 70 131 41
K% H 45 41 86 22
K % 2 HET TN 66 71 137 37
K% EBIE 45 39 84 21
K% T aalih! 72 61 133 39
K% T £ 58 67 125 39
K% EET ES 107 114 221 63
K %R EE 80 63 143 39
K% EET Bthia 52 66 118 33
K% EET it 103 87 190 48
K% EET b 373 407 780 250
K %IRRT ET 1,295 1,331 2,626 773

K Z BT mll 53 55 108 27
€L THE 144 144 288 76
K Z BT KIER 125 137 262 77
€L INEIR 55 55 110 29
€L 8T 81 96 177 52
€L 8L 166 172 338 93
€L [REE 183 183 366 91
€L HFH 235 239 474 150
K S BT = A 65 72 137 36
ER:EL Bith 1 2 3 1
PR ZET pN:: 54 60 114 34
EREL K& 81 84 165 50
PR Z T EES 69 67 136 27
EREL A0 50 52 102 24
REL EXi 66 81 147 35
BREELIRS 1,428 1,499 2,927 802

KJIIHT B 176 209 385 148
KJIET aki] 57 73 130 55
KJIIET FR 107 106 213 65
KIJIET HFF0O 118 122 240 55
KIJIET ¥ 98 116 214 69
KJIET JIIFg 112 120 232 70
KJIIET HOA 0 1 1 1
KJIET Eqng 163 185 348 104
KJIET sz 222 262 484 180
KJIET WA 102 122 224 65
KIINET HEAK 54 54 108 36
KJIIET JIR 99 105 204 70
AJNETET 1,308 1,475 2,783 918
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TR A A O#Et 3 (H21.10)

Hh[X % THX# 5 S H HHEEH
¥ASEIET EXs) 128 143 271 91
L) L& 64 66 130 36
FAEET T4 231 286 517 182
L) T 88 93 181 66
AR wma 45 49 94 30
FAHET iR 69 84 153 49
A ET k) 95 87 182 56
FAHET 3NN 125 129 254 75
P ET ABRKR 41 34 75 27
N1 (E¥a) 97 117 214 76
¥R AT ) 101 113 214 71
N aapt:] 104 101 205 73
¥R AT £RR 60 61 121 40

¥AHETET 1,248 1,363 2,611 872

—BH B/I\AH 705 784 1,489 620
ZEH Fa/\ 45 235 253 488 193
—BH JIE 824 912 1,736 681
ZBHr KE 527 540 1,067 381
y==:) 1S 113 105 218 108
ZBH AN ES 113 136 249 94
— By £ 194 240 434 172
oy EHF 98 117 215 78
B fH 67 95 162 63
ZBH o 57 61 118 41
ZEBH A 70 75 145 50
—BH ks 45 41 86 35
—BHTE 3,048 3,359 6,407 2,516

B ET ) 589 618 1,207 461
BILAHET f2F0 66 59 125 53
HILACHET Rk 1,010 1,005 2,015 774
BILACHET HE 70 73 143 47
BILACHET X 87 83 170 70
BILACHET fin E7 195 213 408 131
BRI HET AN 157 189 346 128
BILACHET HAAR 106 103 209 79
HILAET RKAR 228 220 448 168
B ET f2iE 177 205 382 162
BILACHET ER 65 85 150 66
B ET Ta 13 15 28 10
BRI ET EINA 113 109 222 84
BRILACHET TnE 9 11 20 9
BRI ET JIINEF 99 108 207 65
B ET B 7 7 14 7
BRILKETET 2,991 3,103 6,094 2,314
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TR A A O#Et 3 (H21.10)

Hh[X % THX# 5 S H HHEEH

LA ET WAZE 277 313 590 258
(T WA 482 509 991 402
K ET =R 62 68 130 52
(LA ET b 89 100 189 69
L ACHT 5 65 65 130 54
LT Ba 142 162 304 143
LA HT AR—X 254 262 516 196
LT ARZRX 369 430 799 334
AT AR=ZX 132 150 282 118
AT SR 173 200 373 170
LG HET JIIm 109 137 246 122
LA HET igE 132 132 264 107
L ACHET I 137 156 293 146
LI ET [icha) 138 139 277 93
A ET BARAR 45 45 90 32
L ET ¥ 258 49 47 96 26
WAHCHET E¥) 71 66 137 46
L ACHT & 2,726 2,981 5,707 2,368

S 27,853] 30,410/ 58,263 21,926
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